H & 0l & AHS B Ml A

20243 =0let 2SS0 I=SESH AH

FA ASIS
M Y RAZHI(AIZI=XI1L)
CHol: JI=2HI(A230I2= ) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Arel S X110t 3,940,797 3,663,838 276,959
= 507,698
== 88,847
Al 3,344,252
HY2EZHI(AIEIS A 56,388 49,178 7,210
= 45,110
< 7,8%
Al 3,384
JlE2gbl(A2SHIISSEEA) 56,388 49,178 7,210
= 45,110
== 7,8%
Al 3,384
JI23Hl 56,388 49,178 7,210
= 45,110
= 7,8%
Al 3,384
201 fer= 3| 40,388 33,378 7,010
= 32,310
= 5,654
Al 2,424
01 AtR2t2|HI 36,400 29,600 6,800
OAtR2teltl 36,400
— 2230 NRES S 78
8,000,000 * 14 8,000
= 6,400
= 1,120
Al 480
—DBHEH ¥ E8 7Y
7,000,000 *14 7,000
= 5,600
=S 980
Al 420
—2=30AE EES ME
9,000,000& *14] 9,000
= 7,200
s 1,260
Al 540
—2=230eR =N =22 7Y
12,000,000 * 14| 12,000
= 9,600
== 1,680
Al 720
—ESHAANE FA =
100,000& 22 »23] 400




FA ASIS
H2: ES 2| (AIE =X )
C9l: JI=2ZHI(AR20II2SE ) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 320
=S 56
Al 24
02 35244l 3,988 3,778 210
Ooza0s &5 RUER=S
3,988,000 14| 3,988
= 3,190
== 558
Al 240
202 04l 16,000 15,800 200
= 12,800
s 2,240
Al 960
01 =LHOLI 16,000 15,800 200
O=3Udbl 16,000
—RCO|2 AMEA U DA BOIEE
L]l 1,700,000 *14] 1,700
= 1,360
S 238
Al 102
—2es0Ad 2l S5l
20,0003 x 1223 * 12 8,640
= 6,912
[ 1,210
Al 518
—S=220 SYuE ¥ 243 A
5,660,000 14] 5,660
= 4,528
< 792
Al 340
HRES(AIEIS XD 40,000 40,000 0
BEXE(A=220HIISSLEEA) 40,000 40,000 0
BENE(A=220HII3) 40,000 40,000 0
802 gtetsJIEt 40,000 40,000 0
03 DIEIEtE =S 40,000 40,000 0
ORgo0lS, FRHIFMS S v
40,000,000 * 14 40,000
2A=2=g001= S 3,844,409 3,574,660 269,749
= 462,588
= 80,953
Al 3,300,868
ARESI|3 SEIH(ARSHIISSERA) 3,844,409 3,574,660 269,749
= 462,588
& 80,953




FA SIS
M Szl S8
CHol: o|2E5)|2 SEINH(AB20IIZ=L3H) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,300,868
Sl2z0dl X2 537,236 375,586 161,650
= 429,788
= 75,213
Al 32,235
307 elztol & 537,236 375,586 161,650
= 429,788
< 75,213
Al 32,235
0192 & 3=l 537,236 375,586 161,650
OUXEE % =ors3a3
315,978,000 x 14 315,978
= 252,782
< 44,237
Al 18,959
Oofel BZEI1I| S04l
221,258,000 x 14 221,258
= 177,006
& 30,976
Al 13,276
SSHIAIHIRE = 3,266,173 3,108,294 157,879
308 AXIHMSOIA 3,266,173 3,108,294 157,879
07 HXHH2LRES 3,266,173 3,108,294 157,879
OYUSHNTEH(HRALE BES)
375,000& %12 375
Oc2s0dgH(MtedE HES)
3,256,970,000& 12 3,256,970
OALMERTH|(HelE HES)
8,828,000& 12 8,828
Mot 22280 AlEAS 41,000 90,780 A49,780
= 32,800
= 5,740
Al 2,460
301 EtE NS 500 1,000 A500
= 400
< 70
Al 30
01 A EHAGZ(2DEZMR) 500 1,000 A500
OMItel=20 ol WSt S
500,000& 14 500
= 400
& 70
Al 30
307 glztol & 40,500 89,780 N\49,280




2A: A=
Bm: 02201713 S
ol oZESII2 S (23002 =S3IH) (69 =)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 32,400
T 5,670
Al 2,430
11 AMSIESXAEEX 40,500 89,780 A49,280
OMII S0 AIHAIS
40,500,000 * 14| 40,500
= 32,400
T 5,670
Al 2,430




